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t.  Consider the following statements

L There 1 4 finite number of rational
numbers between any iwo  rationgl
nunhers, '

2. There is an infinite number of rativmal
awinbers  between any  twe  rational
numbers,

3. There §s a fintte number of irrational
numbers ‘belween anv  two  rational
nunthers.

Which of the above statements iafare

eorrect 7

fa) 1 only
iy 2 only
g} 3 only
fd) 2and 3

a3, Bepresentation of 02341 in the farm E,
q
where p, o Bre integers, q < (), 1s
() oL
: 3350
117t
4895
4341
BEO]
2539
2990
3 in & school ihere are 3¢ teachers who tesch
Miathematics or Phyates. Of these teachers,
20lteach Mathernatics and 15 tsach Phyaivs,
ach’ both Mathematics and Physics, The
of  feachers  icaching  only
ematios iy
C-DET A-N-FIMN

{2 -4}

K ean complete a job in 12 days. I X' and Y
work together, they can complete the job in
E:E- daye. V" alone can complete the job in

{a) 10 days

(bl 12 days

ity 15 days

id) 18 duyvs

I a body covers p distance at the rate of
x krohr and another equal distance at the
rate of ¥ hn/he, then the average apred in
km'hr is .

E

, XAy
{ay m
®)
.
x4y
o ZLY¥
Xy

A sallor sails 4 distance of 48 km along the .

fow of & river in 8 houre. ¥ it takes 12 hours
to return the sewe distance, then the epeed of
the flow of the river i

fay 08 kavhy
fhi 1 kw'br
ey 18 kevhr
fal 2 bwhy

A mason can build & tenk in 12 hours, After
working for 6 hours, he toek the help of a buy
andd finished the work in zoether 5 houre, The
time that the buy will take alone to complete
the work, iz

fatb 30 hrs
(Y 45 hes
() &0 hrs
fdl &84 hrs
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S B D oy demi b @ ¥ oy
| el ) o dem B ¥
S8 & oo el F A § auRdy
Hemst & aRfim e S # 0

¥ ¥ A TR T T A p 5.

e 1
AT 2
HEE 3
23k 3

Twmlsmy 38 p qPEE g0,
Q
wEE T
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wmad e X, 12 iwmmasnd  ®R Y
a@hvfﬁammaﬁ,mﬁmmgﬁﬁ
0T B W £ | Y Sihen @17 o fova A A @
B FFET § 7
(2) wWHh=
by 12
) 15%
d) 18%=

a2 v g v 58 @ x ken/hy W R F 09 RO
£ 2t vr gudt 97n o B y xaw'hr B T W @
H ¢, T drad e kmbr T T @ 7

T+

l_fa] 2

by Jxy

22Xy
X 1 ¥

{e)

x+y
Y

{dy

pE Mfaw & & vawr 2 R § A9 W@E3K 48 km
W ew ¥ v e # 1 R 97 3 0 B A 4§
w9 TN 12 9 dar £, |1 6t & TaE & 90 &
22

{a) O3 kmir

{b) 1 km/thr

] 15 keoihr

{d} 2 km/r

tH iR TP e A 12 A AT T & [ 6 R

P A AR, W US TES O WES o ok

T 55 N B W BT AN B | IE w5 § I
Y I O B 7 T W A 2

{a) 30WE
(b} 45T

{c} ©0u&
(d) 64 9¢




8. The priveipal oo which a stmple interest of
¥ 58 will be vbrained after 9 months at the
rate of 3;% PeY annare is
fa} ¥ 1000
(k) ¥ 1500
o} & 2,000
{@y <4500

2
i3

B The expression ((u@} J gives
ia) A& natural number

(B} an integer and not s wayural number
(2) 2 rational wamber but not an integer
{d} a res! number but not a rational
T Der

10. | The I.CM of two vumbers is 2376 while their
HCF is 33. If gne of the numbers is 297, t-hﬂ:ﬁ
the other number ia
{a) 214
(b 264
fel  H42
dy 7ol

11. A persen travels a certwin distance at 3 knvhr

d reaches 15 minutes lats. If he tyavels at
kvhy, he reaches 15 minates earlier. The

distance he hags to travel iz

{al 45 km

Bl & km

o)) T2 km

id)| 12 km

O-DETA-N-FMN
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13,

14.

15,

{44

_ {e)

The two digit pumber, which when divided by
sum of the digits and product of the digits
tespectively, the remainder i same, and the
difference of quotients is one, is

fa) 14
(o) 23
{cJ 32
) 41

The short and lang hands of 2 clock are 4 em
and 8 oe long respectively. Then the yatio of
distances fravelled by tips of short hand in
2 days and long hand in 3 days is

jay 4:9
h) 2:9
{£] 2:3
Wy 1:27

What iz the value of
TIExT25 =725+ 371 x 871 % 371 5

TAE R T35 - 728w 371+ 4TV« 371

{a) 981D
fb) 1960

1046
(d) 1014

IEN, (N + 2, (N + 4] are prime rmimbers, then
the nombar of possible solutions for W are

(&) 1
{b} 3
(e} %
@) Mone of the above
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8. aa@mméﬁmwag%arﬁasa?ﬁa,ﬂ@
BrE TrRel 2 2 55 fd 2

12. @ I 9 et s & 3w vud sidt & drea
W i 3wl % er § oner feanfa fear s

T T Sme AN tEm 2 ol e @ o 1
@ 1000 ' WAL | TR A E ?
(b} ¥ 1500 _ w14
@) T 2.000 s bk &=
qd) T 2,500 32
| @ 41
[ BT
9. m{{qz) | FE 13. & 9 A Ol 3R 22 gF T 4 cm 3R 6 em
o / W vl g e 2 R A sk el
(8) o o & - & et g g Bt o < o oRa o s T
b) qute 2 3R o e TE 2 R2
(e} afenz Tew 2 fog yoile 28 2 (a) 4:9
(d) arraRe T § o g Sew o @ b 2:8
: g 2:3
18, | @ dwni @ LOM 2376 # 3efs 3@ BOF 23 @ 1:27
£ 1 ot 78 & o dan o7 & F 0 4
co
fay 216 ja 2R iSaiian STlaail il
© 25 725 - 725 871+ 3TA= 371
by 284 .
B AR TE L 7
oy B4%
fa} 9610
) 792 :
- ) 18960
. et v AT g oW 3 hwfhr © 9 €y 1096
o w2 IR 9w 16 e RS odem @ 1016
TE 4 kfbr B el & Trar B & At @@ . ._
! ﬁ?}m EieE: S iﬁﬁwl&. GE N, N+ 3), (N+ AMTHABE DNSD
: o difos B A HEM T 7
45 b @ 1
b ¥ b 2
72 km () 8
e @ odwE S o
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17.

18,

19

Q-DETAN-F

e

- {b}

e

The sum of twa numbers s 7 and the sum of
their-squares is 25. The prodeci of the two
nurhera iz

{al &

21,

‘The system of equatione 3% + vy~ 4 =0 and
Bz + 2y - 8 =0 has '

al a vnique solufion x =1, y=1

ip) & onigue solution x =0, y =4
. 22,

no eplution

infinite aglotions

fale 1* = a? is djvisible by
_2at 21
28% — 83 — 1

(e} | 2% — 25 + 1

@y | 202 3 25 + 1

The,|factor(s) of Spx — l0ay + 2rpx — dgry
@

{b} .px - 2qy) only

Poth (B + 2r) and (px - Zqy)

(d) Neither (§ + 2r) Dot {px ~ 2qy)

M {6 - A)

@

If ane of the roota of the equation

¥ —bx 4+ =0 i3 the square of the other,
then which one of the following is correct ?
(a} b¥=8hevtse

) o =gbc+ b + b

ey Zhe=c? v s d

3be = ¢ + bF 4 p?

If x‘+~:;=2‘ then what i x-—-l— equel to ?
X X

= 0
fth) 1
e} 2
fd -2

What is the vaiue of JE+,!6+1JE+-°@:_.: 9
{al 2 ' .

by 3

© 35

@ <

Duoe of the faciors of the polynomial
& _T® y 5x2 _ Bx + 1 is .

ta)
(b}
{ch
id)

X+ 2
x —%
4+ 3

X3

Let A = {x : x i an odd integer) and
B = tx:x% - Bx + 15 = 0}, Then which oue of
the following is correct 7 i

(a)
()
(e}
(d]

A=B

Ach
BEga
&g Bf




& shanyit 3 dned 7 3 FR T o @ s |20,
258 | 37 & Tl S IEEAEa W T P
fal €

16.

tht 14

el 12

Z1.

} 3x+y—4=0 T x4+ 3y -8:=0

17,
Fmm & e
y wITEEx=1,y=12
£y Fﬁ‘iﬁ%ﬁmﬁfxnﬂ,yﬂﬂl%.
B g W 2 20
dl ¥ d
18, a® foed farsn 2 2

19, 5px —| 10qy + 2rpx — dory @S PEEEE g4,

5+ %)
Y {px ~ 2gy) ’

e} (B 3y I (px — 2qy)

(5 + 2r) 3R 7 B (px -~ 2q¥)

ﬁﬁ%ﬂxzwbx+c=ﬂH%%WWq
w3 A e F RS m g d e

fa} h¥ = 8he +e? 4 ¢

by ¥=%bc+b*+b

£y She=¢®+b*sb

@ Fbe=c®+b’ stk

71%};%—3{—22 ok x-—-i— et i

fal 0
hi 1
iy 2
fd) -2

6+Ja+x5+ﬁ?f B AF T L 2
lay 2
(b
G-
w4

TE ® -~ TxS +5x¥ - Bx + Bl FUEESLA H
Tl RS T R 2

(a) x+32

iy x-2

fe] x+3

idy = -3

mﬁ%ﬂh:!x:xﬁﬁ‘ﬂ'}?ﬂﬁﬁaﬂf
Be=ix:xt—Bx+35<=0% 1 & Pfafaa 49
PIAT W 2 2

a) A=EB

iy AgB
¢y Bch
(dl A 4 BF




28,

27.
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Censider the following in respect of the seis
and B :

1. mnB:l;;A
2. (AnBcE
a AcAUD

Which of the above are correct ?

{a) 1 and 2 unly
k! 2 and I only
fey 1 and 3 enly
(d} 1,2 end 3

2% is the HUF of the polynomials
_ Y48 x240x 4+ 8 and A+t 4y 1 8 7

addition
subtraciion ‘
muitiplication

division

of the above isfare correct ?
1 oniy ‘
and 3 only

LZ2and 3

and 4 only

A,

i,

28.

28,

)]

For what value of k, i3 {x + B) a factor of
2% + kw + 10 7

{a) &

by 32

fcy 38

id)

If 3 men ard 4 buys can do a pier:é of work

in 8 days, then 6 men and 8 buys can do the
same work in

ia) 2 davs

o) 4 days

& days

(18 days

X Y and 7 had taken a dinner together. The
cost of the meal of 7 wes 20% more than
that of Y and the cost of the meal of X was

- 5/8 as much as the cost of the meal of 7, ¥

paid 2 100, then what was the fotal amaunt
that 2il the three of them had paid ?

f2) ¥ L&
ik ¥ 300
{ey ¥ 3b5

{d) None of the ghpve




sHdPF A E 2
(4) 3w 1202
I:E, &g 2 3K 3
(¢l &=a 133
fd

28.

{a}
(h)

ic} .i

ANBE <A
ANBicB

AC{AUB)

1,223
B xfroxab o 2 2f +ax+ 8
@ HOF®r & 7
L x+ 2
X+ 3

(x + 22

(@] 3ok ¥ ¥ @ A

B

(a) P

(b)

(c) }_z'afha |

© {d}

AdR B & S § Fiafofisn ot Gaxes.

29,

(9 -A)

kF eI o & e 6d +» kx r W W
TS (x + 5YEW ? .

fal 5
() 32
{c» 3B

(d) 40

g saedsiReamhr i o @ sl o=
T T, ﬁrﬁmﬁrsﬂrsmﬂmaﬁ%ﬁ
fe=t o o @dwr o

(ay 2fH

i A=

e BTN

(@) 16

X ¥ R Z YO0 B e W o e | 25
TG 1 T, Y%ﬁmﬁm%mﬁaﬁ%
%ﬂhxﬁsmaaa%ﬁmﬁ z%ﬁ‘maﬂﬁnﬁ
a6 1Al YT 100 v v, D O B
& e e YA @t oo vt war @ 2

fa) ¥ 285

b}y T 300

{c] €385

& IR A PR T




31. Which one »f
divisinle by 11 7

{al 4h878040

e foﬂoﬁ?ing numbers s [35,

(hy  D4BEYLGS
{cy  B7h24308

(d} 23485120

22, Ten chairs and tablezs together cost
¥ 6,200, three chairs hnd twa tables together

eeat T 1,900, The coat off 4 chairs and § tables is a8,

{a}y ¥3,000
fo) ¥ 8,400
fe) & 3500

@ T 5,800

B8, I s bt A eoare i

tinwed propertion, '
then afe is equal to :

27,
by a%h?

0 ba®

@ bt

34, T the expression x” + 3% +\4x + p contains |38
(X + 6) as a tactor, then the yalue of p is

fay 132
{hr 141
fe]l 144

dy 153

(-DETA-N-FHIN [

The difference in the roals of the equation
0 L Ul 2 5= 0 iz

(a) 45
{hl 4
@ 35
fd) 3

The HOF of (xf - y% and (b - v ip

wy x*-y?

The LEM of (<% = x% - 9%) and (A + 25 is

3

(ad  wd —xt oy

b x4 x

] x-~9

The smallest positive prime (say p) such
that 2P - 1 is not a prime is

fa) &

(Rl 11
ey 17
(d) 28




31, frefefmdashdedseannafwser

{a} 45678940

35,

(h] S485TZ66

{p)  BTHR4A39B

fd) 93455120

2. @ gad dk w 4 & BEes amd T 6,200;
d el sl 2 4 ot FEee wee 71,500
F 14 PRI o) 5 50 St AP F E 7

% 3,000 -

36.
(a)
k) 3,500
(e} 3 3500

() T 3,200

ﬁﬁ’a.bjc,d,eﬁﬁﬁ'ﬂﬂlﬂﬂﬁﬁ%ﬁ&;’eﬁ?ﬁﬁii

qﬁié? aT.

&) ba°

qd) bifat |

34. | 7R TIW ° + 3’ + 4x + p A TD PGS

: 8.
(x + @) 3l &, A pET I TR ?

{11 - A

WHET 2x° ~ 11x + 5 = 0 & Ut S I T
g

{a} 445
{b) 4
fe} 35

&y 3

-y IR P - P BT HCF = g 7

¥

L

(8] % -

Ay

2 S e LM T #
(a) x% - x%. 2z
) x%4x
vy =t ox?

(dy x=-2

mmﬂwmimﬁmpiwm“%
2P - 1 anrsT wem A& ¢, w2

) B
{b) 11
{e) 17

(d) 29




88.1 A number congists of {wo digits whose sum iz

10, H the digits of the number are revorsed, e
thenr the number decreasss by 88, Which af
the following isfare correcr ¥
1. The number ig divisible by 4 composite
nyember,
The pumber is & multiple of a prime
numbe:r
Selact the cotrect answer using ihe code
ven below
(e} 1 pvly
by 2 enly
g i-ﬁ.ﬂ.
ey | Hath 1 snd 2
(8} |Neither 1 por 2
4, H 18k & < 0™ then m equals
{a)
4,
b}
fal
fdl  3n 4 10
4},  Consider (he following statements far
b g
1 The we of win B + cos  is alweys
greatet thar 1
2. The vatue of tan & + cof § i5 always
greatey |than 1.
Which of the abova stetemments isfare eorreer ? [45,
~{ay 1 only
by 4 only .
ic} Both t and 2
{d)  Noither 3
Q-DETA-N-FMHN L 12 <A

What is }ﬂ%% LU eiynad 1o ?
gin® A

i A
' Y—eos A
o BRI

B e Y
(e sm:_ﬁ_ﬁ

1308 A

€y None of the shove

If sin A =35 and Ais an acote angle, then ?

tan A + sec A is ogual to

fad 0
3
ey 2
dy =1
= R :;'2
If ainp = —g~~o5~: then which ane of the
x* by .

fullowing is correct ¥

L)
ig!  gps B e _éﬁ?
k" -y
(ht o B =-- By
'b':;'
-7
) s B =
x* 4y
fd) ppe P e vy:(x--}r}
x* 4y
" I 1+ 2sin s B a+rl
If a = et hat is ——
" 1-2simleos on what is a-1
egual to ¥
(B} secH
{n 1
fed 0
fdl  tan D

4____-_



0. oE SEn @ o e # Cred St o dwned 10 (42, E‘““";.?E_“,éﬁ;ﬁa;* R 7

& o weey ¥ oot w oee fha o, @ e SMA’H
B I i L L B IO tevcriyy
& ?
.. 3
1, 4% e, 0% Wid W W fewme e (| 1+ oos” A
9. F@ W, UF IS e @ 0 € b o L SeA
A% fow M g 1 AT B R IR g g
fa} /W 1 : ! CVRECE T R 2
fby WAE 2 43. T gin A= 35 TUF AT HOTE, A

(e} 1l zEm ' tan A ave A Tou gra & 7

(al O
@) aariakade w1
. , ey %
40, |9 18820 F W feEs gEE P =1
gy n+ 8 L -
. | 44, aﬁ'sma_;”a——% ?hﬁmﬁﬁﬁaaﬁ%raﬁ#m
oo+ 140 R & o XL
an + 2 !
| 3 i0 (o]l oos = ,gxf.dn.
- n + ! sE oyt
Crwor

| 41, Ug'ﬁgﬁﬂ“i’i‘ifmﬁﬁ%ﬁﬂﬁmtﬁﬁaﬂ“ (hi %‘“”?;g—;—yj

I - @ cos = —pip
5in @ + cos 0 1 AW WG LR AN AW | | x* +y
i 1 _F_KY{K_:'F}
5.0 tan® e cot DT AN W LA SR 2 | ) cos A= ;E:}ﬁ_
|

; n 1+2qucan a4+l
a p it bt Sl
,t wun f ¥ B oy T 2 ¢ 545. Ty af = PO ?ﬁarlﬁﬁkgm
r f
& Eb} éﬁ—ﬁﬁ '{ﬂ} sEC D
1
1 gl 22 |
ey 0
R G | @ tend

Q-DETA-N-FMN (13 - A )




46, Tf cos & + cos® A = 1, then what s 48,
2 (gin® A 4 eind &) equal o Y

a4

by 2

fel L

dy e

What is B},

(4 —tan 80 + (L 4+ tan AT &
{1 — out AV 4+ (1 + cot AN
egual o ¥

(&) sin®* A one® A
b} sec? A cusec® A
(e} Dsec® A comec? A

{d} None of the above b

Directions : Consider the fullowing for the next fotar
(4] guestions that fallow

segnt fromt the top and botlomn of & bualding H5]'_‘
ofl height T mekres, the anples of elavution of

top of & tower of helght -———<—~ metres

48. = 3%, then what iz tan o equal tp 7
fa) |1/2
LTI i
e} 4
(d)  Nene of the above
Q-DET A-N-FM AL 7 I )

Lal

I o= 80% then what is tan equaal ko ?

fal 4
(o 1/2
€ 143

fd)y  Nane of the above

If =207 and h = 30 m, then what is the
digtance between the hase of the building and
the base of the tower ?

{2} ]:’5 + 1548 m
(h! 30+ 13v3 m
€} 45 + 1543 m

fdy  NMone of the above

It B =30° and i 4 i the angle of depression
of the foot of the tower as seen from the top of
the building, then what is tan # equal 4o 7

-

8- 4‘5}
33

——

(3 + \,l'rgj

NG

2 3

o R

33

(h)

fdt  Nowne of ihe ahove




4%

47.

e cos Aseosi Azl P A2 ':5‘:1’&2;;‘1-5“ sin® A) 48,

feaw amad 7
(a) 4

(Bl 2

- tan A% 4 (1 + lan A}k +
(1~ eot A + £] & cot A

g E Y
(al sin A cos® A
{by] ser® A cosec® A
le} | 2ane® A cosect A

(@) |3 & & % wf

B ¥\ e e (04) e & o R

2-DETA-N-FIIN

BHF - :

h e T 0 BET I A A R T Wi

W dard ol Amw ¥ o 8 3Egw
1ﬁ3ﬂ_{ﬂﬁ;‘

3l

(15 - A

o w=20° A tunp Baramd

el 1
fr 1 ;‘ o
ey 3/8

() Jueen A A e

o oo 30° HWE b o= 20 m ¥ A wE & oamur
3 WA B anaR A @ gl o @ P

{2) 15+ 1543 1
Y A8 4 1540 m
(€] 45 + 1573 m

(&) g A d o o

P o= 307 # ol uaw oo ottt wm dew B
& W I HT 9 R, T van o Rewt qer @ v

RS
EEU - 3'\-@_&
o (F59)

._E_ JEJ-F
o fe=a)
fb')‘ 'HE'-?E'.—-M_

Wy s A ¥ e SR




Directions = Consider the following for the nett four

{4} questions that follow :

The angles A, B, C,.D of a guadrilateral

ABCD areintheratio 1:2 1 4 : 5.

52. Whatis cos (A + B} equal to ?
{a) O
b)  1/2
e} 1
{d} MNone of the above
63. Whatis cosec (C - D + B) equal to ?
fal 1
B 2
{e] 3
idl 4
64. Consider the following statements -
1. ABCD is a cyclic guadrilateral.
2. sin (B — A} = coa (D - CL
Which of the above stalements isfare cort
{a} 1 only
(b} 2 only
(cy Both 1 and 2
(d} Neither 1 nor 2
55. Whatis sec® D—tan’ D equal to ?
{a) 1/%
by 2/3
ey 1
(d} MNone of the above
56. An isosceles right-engled (riangle has
1 square unit. What is its perimeter ?
{al 3 wruts
(h) 242 + 1 units
(e) 2 + 1 units

d) 2(42 + 1) units

Q-DETA-N-FMN

57,

B8,

-9
ecl 7 |gg,

6.

area

[ 16 - A}

If the heights and the areas of the base of a
right circular cone and a pyramid with square
hase are the same, then they have

same volume and same surface area

(a)

(h) same surfzce area bul different volumes

(2}  =ame volume but difforent surface areas

(d} different volumes and different sorface
arcas

A cirenlar water fountain §-8 m in dizmeter
i3 surrounded by & path of widih 1'5 m. The
area of this path in square metres is

{a) 13-62Zx
(b} 1815
{c}  12-1&m
(dl  Mone of the above

The area of a rectangular field is 4500 square
metres. If its lenpth and breadth are in the
ratio 9 ; 5, then its perimeter is

faj 9 m
(b) 160 m
f¢) 280 m
(d) 360 m

The area of a square inscribed in a circle of
radius 8 cm is

{a} 32 square cm
fhl 64 square cm
(e} 12E square cm
(d} 256 sguare em



By - 3 303 @ TR (04) T & fre et (5T

52.

53.

56,
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oY fqar Fiow
& oga ABCD S WA B, C,D,1:2:4:5

BT R |

cos(A+B)fEes g £ 2
fa) ©

by 1/2

e} 1

) TEm E R A
cosec(C - D +B) ipms gea & 2

la} I

(k) 2

e 3

(d) <
Ffafem wuEt w faam o

1. ABCD 03 T 94 £

2.  ain (B —A) =eos (D - C)
0w wee B E v ey e &2
(g) @ac 1

{by a2

(¢) 1z 2d

o TAatiRTS2

aeczﬂ—tanznﬁﬂi'?ﬁ'ﬁ% ?
{a) 172

b 2/3

(e} 1

&) I ¥ ¥ T

5t wafirg Tt Bys @ doea L 3 398
2 | 3O@ ofoag T & ¢

(2} 33EEdl

b) 242 + 15l
fe) 2 + 1 3FRRA
d) 242 + 1) ZEAT

58,

0o,

60

17 - A}

(a)

o BE dv-gir =g ol 7 smem TS Ttfs S

It ok SR T e T € @ I

A WA 3R IH SR B E §
Wqﬁﬂmﬁﬁﬁﬁmﬁ
woR HEe o B oS dewer E
Firer s 3 B UsSt £eed 2

{h)
()
[d3

UF 6-8 m S FEl 91 & ol 7] 0@ 15 m
e o AT IR AR g | oy @
et ¥ dFen A g ?

{a)
{b)
(e}
(d)

13-62n
13-15%=
12-15n

w § ¥ B

i

7P SR W @1 Ewa 4500 7 det 2 ) i
sl e IR dEE 01 5 % s A @ g
uRemy e & 2

(a) S0m
ib} 150 m
(e} 230 m
(d) 360 m

8 em B 9@ o9 § oia of 1 smew e
g2
{a} 32T cm
(b) 6491 em
(¢) 128 @ cm

(d) 256 T cm
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63.

64.

83.
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~melted to form spheres of rading 2 cm each|

A golid spherical ball of iron of radius 4 em i+

The number of spheres go formed ia
f2) &

b 9

(© 10

{d) 16

From 2 solid waoden right eirenlar cylinder, g
right cirenlar cone whose radius and height
are same as the radius and height of the
cylinder respectively, is carved out. What is
the ratic of the volnme of the utilized wood i
that of the wasted wood ?

{a) 1 -
b 2.
€y 2:
d 1:

(2 B = po

The arc AB of the circle with centre at ‘O’ and
radius 10 em hes length 16 em, What is the
erea of the sector bounded by the radii OA,
OB and the arc AR 7

{a}
(b)
(c)
(d)

40r sguare cm
40 sguare cm
B0 squars cm

20m sgquare cm

The height of & cylinder is 15 em. The lateral

surface area is 660 square em. Its volume j= |

{a) 1155 cubic rm

87.

69.

(b)
{c)
(d>

1215 cubic cm
1230 cubic em
2310 cubic ¢m -

A bucket iz of height 25 em. Its top and
bottom radii are 20 em  and 10 e
respectively. Its capacity in litres is

{a) 17-Bm/3
(b) 175m
(e} 20m

{d) 25n

[ 18 —|A )}

The volume of a right cireular cone of height
3 cm and slant height 5 em is

(@)  49-3 cubic em
{b} 50-3 cubic em
(e} 52 cubic cm
{d} 53 cubic em

A cylindrical tube open at both ends is made
of metal. The internal diameter of the tube ig
6 cm and length of the tube iz 10 em, If the
thirknesz of the metal used is 1 cm, then the
outer curved surface area of the tube is

{a}
(k)
{c)
(d)

140 square cm
146-5n square cm
TOm square cm
None of the above

The ratio of surface ares to diameter of a
sphere whose yolume is 287 enbic om is

(a) 8n
fb) 6m
{c] &

{d] None of the above

The volume of the material of 2 hemispherical
shell with outer and inner vatii 9 cm agd
7 cm respectively is approximately

{B) 808 eghic em
{b)  B0D eubic cm
{¢) 818 cubic cm

(d) 824 cubic em

The length, breadth and height of a box are
respectively 14 m, 12 m and 13 m. The length
of the greatest rod that can be put in i is

mr 2331 m
(b} 2266 m
{c} 20m
{d) 195m
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i)

C(al

4 cm Br= & % 2 e e ARy iR &)
2 em Bzl o i 2 1 e S B .
m#lﬁm@:ﬁﬁw_ﬁa‘rﬂrmm%r
{a) 8
by 9
(¢ 10
{d) 16

m%iﬁqﬁmiaﬁﬁaﬁﬁ:ﬁmﬂaﬂ e
o & WEeT ¥ IO feam & 2

fa) 1:2

i Z:1

€ 2:3

dy 1:3

Rz P @7 aoe S # 2
fa} 40w & cm
(b) 40T em
20 cm

(d} 20nafem

TE I B I 15 cm 2 | gy = dEw
660 3 o & | 3o NG e & 7

fa) 11559 cm
) L2159 om
e} 1230 ™9 cm
(d) 231099 em

e @ foenit & 2
17-51/3
17-5n

20m

{b)
{e)

&g 07 @ vd B Iﬂmaﬁﬁﬂiﬁmﬁm

. @ @ 16 cm # 1 B OA, OB 3R 9w AB ¥

ﬁmzscmﬁ:éaﬁﬁjwaﬁsﬁésﬂfaﬁaﬁ\-

BEn? @uer 20 em 3R 10 om T 1 56F @i -

(d}) 25=n

19 - A

7.

|86, I 3 cm 2l BdE T 5 om T o v

Rp T WTGH AT © 7
fal
(b}
{c)
{d)

49-5 "4 cm
50-3 99 cm
5299 cm
53 ¥ cm

A AR R gl oF e TR an S
® | Hiorsl &1 HARE =1 6 em R F9rE 10 cm
¥y ot 3dm & 7 o B Ted 1em B, A
SiesT & AR o6 TSI ATwd feae & P

(a) 140nafcm

(b} 146577 em -

¢} TOmSHem

() IS 4=

5 M B AEH 36 W om 2 | 5 vSK
EVTBT T T ¥ T T F P

{a)
(b)
ey & .

(dy Fgw A F o 78

are 3R siaRe fisom® #9eE 9 cm o 7 em ey
ﬁa@hﬁm@wﬂimmaﬂﬂaﬁrwﬁﬂm

an
(7714

4

08w om

200 99 em

{c) BlEET cm

(d} B24T9cm

EP Hge I dam, 99K 3R TR e 14 m,
12m A7 13 m # | =98 Rt e et Y
mEaass g 2

) 2231 m
by 2256 m
e} 20 m
(d} 1856 m

{a)
{b)




¥1.

72,

73.

S 4.

75.

. Each side of an equilateral triangle iz & om. |48

its altitude is

a) £42 em
() 343 em
(e} 243 om
@ 3 em

if the arms of ene angle are respectively
parsilel 1o the arms of another angle, then the
tawro angles are

fa)
(b}
{c)

(d}.

neither equal nor supplementary
nel equal but supplementary
egual but not supplementary
either equal or supplementary

What is the quaatity of cloth reguired to roli
up to form A right circular tent whaose hase is
of radivs 12 m and height 5 m ?

{a)
b
{e)
{d)

Tha ‘minuts hand of & wateh 1@ 25 cm Jong.
The distance its extreme eml LYRVEYSEE iT

401 sqrare metres
oln sguare metres
T8n square metres
156n square metres

40 minntes is -

(2)
(b}
{c)
{d)

L3 em

- 3010 cm

1943 em.
10 em

The gide BC of 2 irismgie ABC i3 produced to
D: hisectors of the angles ABC end AT mest
at P. If £ BPC = ¥* and £ BAC = ¥7, then
which one of the following iz corvect ?

@ x° =y

) »+y =00
{c) x°+y°=180°
{d) 2x¢=<y°

Therse are 45 male and 15 fernale employess

|- in an office. If the mean salery of the
|, B0 employees is T 4,800 and the meag walary

- of the male employess is ¥ 5,000, then the
'|" mean salary of the female employees is

A awimming pool 70 m leng, 44 m wide and
3 m deep is filled by water {lowning from a pipe
at the rate of 30,800 cm? per second. The time
taken to fill the swimming pasl is

@

| (a)} ¥ 4200
(b)) 74,500
(). T 5600

7 8,000

. iI‘Pipe & can fill & tenk in 10 mimates and pipe
I B can ampty it in 15 minutes
‘| pipes are opened in an émpty {ack, the Ume
:| taken to make it full is

if both the

{a)
(b

Ax)

)

71/2 houzs
B0 hours
25043 hours

None of the sbove

If the
9643 square &m., them its perimeter is

area of a regular hexagon is

{a)
)
{e)
{d}

_Eﬁm

48, cm
54 cm
6d pm -

Q-DETA-N-FMN

Bi}.

{20 - Ay

AT

()
b}

g (2]

b

‘90 minutes

26 mimutes
30 minutss
None of the above

ABCD is a trapezium with paraliel sides
AB =2 cm and DC = 3 ¢, E and F ave the
Thid-points of the non-paralle] sides. The retio
: f avea of ABFE to area of BFCD is .




71.

73.

T4,

75.

@ wEE B B e 53 6 om § | 39S |76,

) B
(a} 643 em
(b} 343 cm
(¢) 243 em
(dy  J3 em

oo =TT Towe 2 TR Al & 12 m
rere @ Brar ik 5 m Fné @ ve de-ga Oy

] F ED P

a) , 4Dm G HieT
(k) B0a T Hiex
{€) Tem T e

(d)  156x T Aie

ves g A fire & g e 25 em 1 §W
ﬁ'éﬁraqﬁ‘aﬂﬁmmﬁﬂaﬁﬁﬁ#r;ﬂwﬁa

M ?

(a) 10m{3 cm
(by 3mf10 em
(@) 10/3 cm
(d} ~ 10 em

{ay T1/29e
{b) &0

{c) 2502°°%

@ T A e

U o5 T ST o 4F%d 9643 T em B, A
o uiwm fEan 2 2

fa) 36 cm
(b 48 cm
(¢} 54 cm
(dy 64 em

Q-DETA-N-FMN

.

8.

(21 - A |

sy mimerm =

£ o P o YE SER T el & e
THIFTER &, o &1 Sioy

2) T T IRAT ARD &

b  gea &, foq @we £

) g, firg IS @ §

@ o g W A

B ABC B U6 4T BC ®1 D 7 agul e
U @ ABC #HR ACD % ®wnds PR fied
#F IﬂﬁéBPﬂ—x At 2 BAC =y # @
T i i e e :

e m e

v 2w ¥ 45 TOF AR 15 e edard € | of?
60 TR T A T T 4,800 & IR e
®aRE ® A" a4 T 5,000 £ A Afgen
.. i w mreT & e 2

da) T 4,200

1) T 4,500

fe} ¥ 5,600

f

C1d) T 6,000
ﬁ%ﬁm#ausmmﬂwﬁr%@gaﬁﬂﬁw._ i
s TR BRI T0 mo AL, 4 m T AR 3w

TEY] UH a<01 |7 W1 STl & | TR A o SR
Y b H99 oI E 2

ZH TRy A, 10 fime ¥ w ww & 3k o
B, 7% 15 firig & TRl &R g # 1 afe O w
o el & # @ R aw, 9 3 v ¥
iz W TR ?

20 e

25 e

30 e

m@ﬁﬁ%rfﬁéqﬁr

TR Yot AB =2 cm 3R DC = 3 om & T
HBCD ™® 909 ¢ | E 3k F 3w yomi &
%en-fag € | 'ABFE & 8960 © 3794 EFCD &
ea J e 2 2




g1,
in the .figure given szbove, PQRS 1is
parallelogram, If AP, AR, CR, €3 a
higectors of P, 79 LR and £
respectively, then ABCD is a
ta) esguare
tb) rhombus
ic} rectzngle
{d} Nome of the above

D C :

In the figure given above, the area of|.
rectangle ABCD js 100 square cm, (' is any |
point on AR and CD = 20 ¢m. Then the area of
friangie COD 18
{a) 40 sguare em
{b} 45 square em
{¢) 50 square cm
(d) B0 squere cm

83. ABC is a right-angled triangle such that
AB =a - b, BC =2 and CA =a + b Dislgy
B point on- BC such that BD = AB The|
ratio of BD : DO for any value of 2 and b
is given hy
(=) 3:2
by 4:3
ity 5:4
d}y 3:1

O-DETA-N-FMN

84,

Let ABC he an eguilateral triangle. If the
side BC is produced te the point I} so that

" BT = 2CD, then AD? is equal to

B6.

(22 -A)

3CD*
4CDH
5CD4
7CD?

_ABC is a triangle where BC = 2AB, £ C = 30°

and £ A = 90°. The magnitnde of the side AC
is

2BC

3

3BC

S

BC

7z

Jf3BC
]

fa)

ke

£

(d}

" The bisectors BI and CI of the angles B and C

of a triangle ABC neet in I What is £ BIC
equal 1o ?

fa) 90° — A
4

{h} 20° +

B | e

el 80° - —

W

GE Efi} 5
In & triangle ARC, /BCA = 907 and CD ig
perpendicelar to AD. M AL = 4 ¢cm and
BN =9 om, then the value of DO will be

@ 18 em
(b}  +20 em
(¢} 65 em
{d} 6 cm
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- B2,

B3.
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st A 1§ angh , PQRS T TR o3 £ |

s AP, AQ, CR, CS&RTE <P, 2 Q, ZRWE £8
b Sonds §, & ABCD o5

() &
(b) TGS 2

{e) Had &

(d) 0w F ¥ o =

A O B

D C

m-ﬁﬁa@ﬁﬁmmcnaﬁm
100T e &, ABR 3 5 02 iR CD'=20 em
2 | 2 Fryar COD &1 e fa i 2 2

(a) 403 em :
(b) 45 afcm
(e)  50=f em
(d) 80 3% cm

ABC v awsie By 3@ @R B AB=a-b,
BC=2 R CA=2+b BORWRg DR
EBD=AB# 1 asikb & @ 77 5 &
BD : DC &7 H 9@ =1 & 7

(a) 3
by 4-
fc} &
idy 3

[ - )

8d4.

B5.

Bh.

B7.

[ 23 - A}

. (o)

-

IHW%ABGWW@%% | afe g
BC T D firg 7 agra el & fwd f6 BC = 2CD
@ AD Rrus g 2 2

(&} 3CD?

(b} 4CD?

e) BCD?

@ 7cD?

ABC th Bryst & 71dT BC = 2AB, £ C = 30° 3R
£ A=90° | YF AC &1 uRmEmT i & 2
@ ¢

3

2BC
4

BO

7z
J3BC
2

=

i)
{d)

s ABC % 91 B 3R C ¥ $ids B 3R
CLIfem €1 <BICfrwngmd e

=

. A
la) 90 7

o

tb) 90" + —

He

{e) 90° - —

Bo

{dy 20° + —

b |

ve fys ABC ¥, £ BCA = 90° 2R CD ow #
ﬂLBﬂ?IHﬁAD:dmnGﬂTBD:Bm?L?ﬁ
DC &1 9 57 & 7P

a) /18 em
‘b) 20 em |
¢ 85 cm

d} &cm
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Coneider a cirele with cenire at O and 1]
r. Points A and B lie on its cirenmferencds
a point M lies outside of if such that M,
e on the zamne siraight line. Then the! !
of MA to MB is .
{s) equal to 1

(k) eqoal tor

() greater than 1

(d) less than 1

In the figure given above, ABCD is a

trzpezium. EF iz parallel to AD' and
Angle ¥ is egual to

{al go°
fh] 4s®
fer 8Q°
id} 65°

P

———

Q B .

In the figure given shove, < PQR = 30° and

QL is a median, PQ = 5 cm and QR = 12 cm.|[

Then QL is equal 1o

fz) 5Hem
) 5B em
£} Geom
fdl &5 cm

: Bll

i 24 4

92,

Consider the ]"{:Hm-..ring statements :

1. The langent of & ecircle 18 a line that
mesig the cirele in one and only one
point.

The tengeni of a circle at the end point
of the diameter iz perpeodicular to the
diamoter.

'_I'.C?

Which of the sbove slatements iefare corrert ?
{a} 1 only

{b) 2 only

(¢} Bothl and 2

{d} Negither 1 nor 2

In a rightangled triangle ABC, £C = 9¢0°
and D is perpendicular to AB, If
AB x CD = CA x CE,

1 ,
then iz equal tq
cn® h

W — . A
AB® (Al
1 1
B —s -
AB® (B2
i 1
iy + ——
) BC? A
) — - — if CA>CB
BC?  CA

The mean of 7 cobservations is 7. If each
vhservation is inereased by 2, then the nsaw

. mean is

(a) 12
thy 10
{cy 9
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89,

2 0 7R B=n r o vw e w far @i |

R R g AR B E o g M 59 ==
I MAROOG I RA T RE |
MA & aHTE MB ¥ e £ 2

fm 1% g

(b} r o g

(€) 1% 3w

dy 1¥&H

A D

120

_lE:FU’ 50°
B C

FR & 7€ el §, ABCD we wweg & | EF
TR PAD AR BCS | oMy Eas g g ?

fay 30°

(b)

fch

(d)
a0,

450-
B80°
65°

P

Q R

Q-DETA-N-FMN

R & v 3Ef A, 2 PQR = 90° 3R QL witzm

2 PQ=5m3RQR=12cm# | @ QL fo5®

TaE?

" {a) Scm

(b &5 cm
ezl 6 cm
{(d) 65cm

a1,

8z,

ﬁmﬁiﬁsﬂﬂiﬁmﬁaﬁ%ﬂ

AT e s N A g A
| F R o v g T Bodl

2. orE & R W gE o el W A W e

ca

Judes Hadl T P T W EE 7

{a} A 1
%b} Had 2

¢ 13k 2o
& FarizikaIB 2

s e e ABCH, L C =903k CDea 2

B ¥ | TR A

5%&%-@?1%?

Iiall. ﬁ—é

(© —BIFJfC;

| ﬁ—cig oft CA>CB

ﬁilmufi%ﬁma?? ﬁémhwﬁrzﬁw

fear =, @ T weg e 2 2

lta) 12

{b} 10

S

'E:dJ 8

(25 - A}




93.

Which of the following are the examples ufi #7.

diserete variables ?

Number of errors per page in a book.
Height of individuals measuraed in em.
Waiting time to failure of electric bulbs.

Number of leaves on hranchez of = {ree,

L

Select the correct answer using the code

given below -
@) 1 only

(b} 1and4
(¢} Rand4
(d) 2and 4

The average weight of 2 class of 15 boys and

10 girls is 384 kg. If the average weight of
the boys is 40 kg, then what is the average
weight of the girls ?

fa) 365 kg
(b 35kg
{e) 36 kp
(d) 856 kg

Directions : Consider the following for the -ﬂexi
three (03) guestions that follow :

96.

Q-DETA-M-Fiany

In a frequency distribution having elass
intervals 0— 10, 10~ 20, 20 — 20 and 30— 40,
the respective frequencies are x, x + 8, x— 2
and x-4 and the arithmetic mean of the
distribution jz 17-8.

The value of x is
fa) 2
thy &

(e} B

dy 12

100,

1 {a)

1 o

The median lies in which dne of the following.

‘clasa intervals ?

{a} 0-10
{hy 10-20
{e) 2030
(d) 30 _40

The modal clags is

{al 010

b 10-20
fcy 20-30
(d) 30-40

Conrider the following statements :
1. A frequency distribution condenses the
data and reveals its imporiant features.

2. A frequency distribution is an
equivalent representation of origingl i
datg.

W¥Which of the above statements isfare correct 7

{a} 1 only

(b) 2 only

it} Both 1 and 2
(d) Neither 1 nor 2

Which one of the following statements is
carrect ¥

A frequency polygon iz obtaiged by
¢onnecting the comer points of the
rectangles in a hjstogram.

A frequency polvgon ie ohtainzd Ty

connecting fhe mid-points of the tops of
the rectangles in a histogram.

(¢} A frequency polygon iz obtained by
connacting the corney poinda of the class

. intervals in a histogram.

{d} Mone of the above




94. Prefifmmddsh it R e xmweE?

85.

ey : o 37 @ A (03) TR & e Pt

96.
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1. ©OF 9w § Vi U gl B Ew
o, whpdl @ om & W 7 SRl |

3. BN % g @ R 29 a5 o vaie
e |

4. U® g & TEnt ™ uE @ w0 |
A fee ww g @t W H T S AU

e 1
134

{a)

(b)

) 334

@ 234

vE BE ¥ 15 ogs dX 10 asEt o siea ux
3edkzd | TR e o ATR TR 0 ke B D
el & s R e 2 7

(a) 365 kg

(b} 35 kg
36 kg
356 kg

{c)
()

w® Ao e -

i 3FERIE O — 10, 10— 20, 20 - 30 3R 30 -40F
7S ARARA-GeF A, TRARAR FAE x, x+8,
x—23R x— 2 3K ge7 B IR T 17-8F |
x®AF T E ?

el 3

m 6

ey 8

@ 12

H

0.

t 9 |

100.

P Rew a5 3wt Rere & 7
€Y
‘[b)
c; 20-30
(d}

0 — 10
10 —20

30 —40

Eﬁfﬁﬁﬁ'ﬁ =W ?
gy 0-10

{b)y 10-20

{e 20-30

dy 30-40-

Tt Fe R e dife -
|, SRARA-ECT FS B T IR 366 HE
1 el @R W

- FRERArETT 59 AiE3 @ Ue geg e

g 2 1

Judes B % o R @
e 1

. a2

1 3k 2 2

Jar1aR ez

{a)
(b}
{e)
@

et s A e w2 7 :
(o) o i § s & BR & g @) e
¥ FRA T84S & 2 |

srae T # Fdi § Srlvm & T
W FigT ¥ IR IZYS o & |

ar s § e 5 o0 & Rl =
S ¥ Fidad oggS &4l §
4§ A B T
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SPACE FOR ROUGH WORK
T (B & e e
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G9g : & g% o qoife : 10

10.

g T 2 | e qitee W Sk g Ty

—— ——— e e — — — —_—

s
g 7= B9 ¥ g TR, A9 38 e gRow| &t TEe FEvT 5 @ i §EE o o ow, on
a1 FTT 3 U6 FUa e sk A | | af o € [ 59wl R gRae ¥ %o Al |
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Note ¢ English version of the instruetions is printed on the front cover of this Booklet.




